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M. Com. (FIRST SEMESTER)
EXAMINATION, Dec. - Jan., 2021-22

PAPER FIRST
(MANAGERIAL ECONOMICS)

Time : Three Hours [Maximum Marks : 80

 

 Attempt all section as derected.


Section - A

)

(Objective / Multiple choice questions)





Note -  Attempt all questions.



Choose the correct  answer :

P.T.O.
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1.  

(A)  

(B)  

(C) 

(D) 

Managerial Economics is-

(A) Positive Science

(B) Normative Science

(C) Art

(D) All of the above

2.  


(A) 

(B) 

(C)  

(D) 

" Managerial Economics is a study of the behaviour
of firm in theory and practice" whose statement is
this ?

(A) Spencer and  Siegleman

(B) Haynes and others

(C) Bats and parkinson

(D) None of the above
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3. 

(A) 

(B)  

(C) 

(D) 

Profit maimisation is the sole objective of firm,
according to ?

(A) Classical economist

(B) Neo- Classical economist

(C) Both of the above

(D) None of the above

4.    

(A) 

(B) 

(C) 

(D) 

Managerial economist makes a forecast of the

following-

(A) Cost

(B) Demand

(C) Price

(D) All of the above

P.T.O.
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5.       


(A)    

(B)    

(C)    

(D)  

Which of the following is studied under incremental
principle?

(A) Only incrementes cost

(B) Only incremented revenue

(C) Incremantal cast and revenue

(D) Marginal cost and revenue

6. 


(A)  

(B)  

(C) 

(D) 

"A rupee tomorrow is worthless than a rupee today" it
is relates to-

(A) Opportunity cost principle

(B) Discounting principle

(C) Equi-marginal principle

(D) None of these
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7. 

(A) 

(B)  

(C)  

(D) 

Basic economic tools of managerial economics does
not include-

(A) Principle of time perspective

(B) Equi-marginal principle

(C) Incremental principle

(D) None of these

8. 
   

(A) 

(B) 

(C) 

(D) 

Under the concept of time perspective for a manage-
rial economist the synonyms for short-run is ?

(A) Imminent future

(B) Far future

(C) Eritire present including past

(D) None of the above

P.T.O.
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9. 



(A)  

(B)  

(C) 

(D) 

If the demand of a commodity is related with purchase
of any prime commodity then it is called-

(A) Derived demand

(B) Autonomous demand

(C) Joint demand

(D) None of these

10. 

(A)  

(B)  

(C) 

(D) 

The future demand for a commodity is called.

(A) Short - run demand

(B) Long - run demand

(C) Derived demand

(D) Autonomous demand
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11.  



(A)  

(B)  

(C)   

(D) 

Demand of which commodities are commodities re-
lated with income-

(A) Necessary commodities

(B) Inferior commodities

(C) Luxury commodities

(D) All of the above

12. 

(A)   

(B)  

(C)   

(D) 

The concept of elasticily of demand was evolved by.

(A) T.R. Malthus

(B) J. Bentham

(C) J.S. Mill

(D) Recardo

P.T.O.
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13.   

(A) 

(B) 

(C) 

(D) 

Indifference curves never intersect each other
because.

(A) They are parallel to each other

(B) They do not provide equal satisfaction

(C) They provide equal satisfaction

(D) None of the above

14. 


(A)  

(B)   

(C)   

(D)   

Which of the following techniques is not used in the
method of demand forecasting?

(A) Survey technique

(B) Economic indicators technique

(C) Trend projection technique

(D) Variance analysis technique
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15.        



(A)   

(B)   

(C)  

(D) 

The law of diminishing marginal utility can be applied
for.

(A) Drunker

(B) Miser

(C) Stamp accumulation

(D) None of these

16. 

(A) 

(B) 

(C) 

(D) 

Income effects ?

(A) Is always negative

(B) Is always positive

(C) May be negative and positive

(D) Is always zero

P.T.O.
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17.  

(A)  

(B)   

(C) 

(D) 

Long term production function is related to-

(A) law of variable proportion

(B) return of scale

(C) law of diminishing return

(D) none of these

18. 

(A) 

(B) 

(C) 

(D) 

The average productivity of labour in second stage of

production.

(A) Decreases

(B) Increases

(C) Is minimum

(D) Is maximum
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19.          
 

(A) 

(B) 

(C) 

(D) 

Who has classified economics of scale in to internal
and external economics ?

(A) Benham

(B) Malthus

(C) Marshall

(D) None of these

20. 


(A) 

(B) 

(C)  

(D)  

The period in which a firm can change it's scale is
called-

(A) short period

(B) long period

(C) very short period

(D) very long period

P.T.O.
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

Section - B



(Very Short Answer Type Questions)



 


Note  : Write answer of any eight questions from this
section in two or three sentences.

1. 

What  do you mean by managerial economics?

2.  

What is business firm?

3. 

What is opportunity cost?

4. 

What is the concept of time perspective?

5. 

What is derived demand?

6. 

What is cross elasticity  of demand?

7. 

Why does an indifference curve become convex to
the origin ?
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8.     

Explain the meaning of ''strong ordering''

9. 

What is meant  by production function?

10. 

What is law of increasing return ?



Section - C



( short answer type questions)






Note : Attempt any eight questions from the following.
Maximum word limit 75 words.

1.    

Explain the objectives of business firm.

2. 


Throw light-on the role of managerial economist in
business management.

3.     

Discuss the equi-marginal principle.
P.T.O.
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4. 

Differentiate between derived and autonomous

demand.

5. 

Explain various degrees of price elasticity of demand.

6.      

State the managerial uses of elasticity of demand.

7. 

What is the relation between total utility and marginal

utility?

8.    

Explain the Giffin's paradox.

9.        

 

Distinguish between short and long period production

function.

10. 

Explain the economies of large scale production.
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

Section - D



(Long Answer Type Questions)



 


Note- All questions of this section are compulsory.
Maximum word limit 150 words.

1.      

Discuss the nature and scope of managerial economics.

Or



What is difference between incremental concept and
marginal concept?

2.        


Critically examine the law of demand ? What are it's
exceptions ?

Or




Define elasticity of demand. How can elasticity of
demand be measured ?

P.T.O.
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3.  

Critically examine revealed preference theory.

Or

       

Discuss the various methods of demand forecasting.

  

What is Cobb-Douglas production function ? Explain.

Or



Explain the law of diminishing return. What are it's
limitations?


